Pre-Calculus A
Section 3.4 Solving Puzzle

Name :

Date:

What Happened to the Snowman During the Heat Wave?

Period:

Solve each equation below and find your answer in the corresponding answer column. Write the letter of that exercise

in the box that contains the number of the answer.

E| 2In(x+3)-3=0 9| 395.4288 Evaluate log, 2 11 0.1931

S| log(-x-4)=2 46 log% (x-1)=0 20| 1.04

o| mvx+8=3 6 | 1.3208 23" -4=16 13| 2

L| 3™ :81_1 @ 15| 1.4817 O| In(x-1)+2In5=0 @ 14| -8,2

Al In(2x-1)=1In(11) 19| -7 M| log, 5=x 5] 1.0959

F | Evaluate log,  0.63 25| -104 H| &' =4 10| 05

E % =5 28| -0.1666 log,(3r% +16) = log,(4r* +6r) 27| 1/3

Oo| mx-In3=2 11} 23 3+7log,(2p+5)=—4 18] 0.3863

A | logx+log(x—15)=2 17| 22.1671 M| 9 =27~ 26| 24286

| =" 24| No solution | | O] 23-5¢"" =3 @ 22| 06065

p| log,(3x—5)=3 @ 7] 20 log,3+log, x=log, 5+log,(x-2) |l16] 3.3219

Ef 4= (4) 23] 3 1 5+2lnx=4 3| 2

M| In(x-4)-In(x+1)=In6 |21] 0.7151 log,(x+2)=-2 12| -1.9796

F| 7 =65 > @-‘h 27 45=15 8| s
2|3]als]6|7[8]9]10[12]12]13]14]15]16] 17 18 11912021 |22 |23 |24 |25|26|27|28
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More Application Practice!

T
A-Pef
1) You deposit $8500 into an account that pays 3.5% interest compounded continuously. How long will it take for the
iple? - 0%t

money to triple 25500‘5%006

Az 8000x3 = 26600 t
3 e 025

P= 8600 o
Y =.0%6 N3 =e
0 n3-.05t

£ 02 ¢l 34 years
2) The number N of bacteria in a culture is givéq"f%y the model N =175¢" where tis time in hours. If N =420 when
t =8, estimate the time required for the population to double in size.

N=U20  430:176¢%¢ ( N=350 360176 ¢ OUE
t-.f( a-q568K K:.‘qu aze.\oqqt
ke!? Ina = 8K £:? Ina = -\0adt
ke 0395 y0q4 t2 102 51 6.3 hours l
] ) 104
3) The logistic growth model P(¢) = %ﬁ’— represents the population of a culture of bacteria after t hours.
+ e
' 039 -0.43%4¢
When will the amount of bacteria be 8007 §00 E,‘lg.—-‘o.q,ﬂt 3333 e
P=§00 L 143353
] -o.qaqt) n (0—%)- -04%4¢
t= (000 = §00 (1+22.33¢ 7.

- t 15
186 - 1+33.33¢ % ke (%.7%) v\ (.4 i l
A9t Zoa

0.5 = 32.33¢
4) The values y (in billions of dollars) of U.S. currency in circulation in the years 2000 through 2007 can be modeled by
y=-451+444In¢, where t represents the year, with ¢ =10 corresponding to 2000. During which year did the value of
the U.S. currency in circulation exceed $690 billion?

1:10 : 2000
090 < -Ub} +44ulnt Lol =1l 2001
N1 = 4ayint t:1a: 300J
Int- W4l te15: 2003 ]
i Y4y
()
6 -
Puzzle Answer Key : Applications Answer Key:
E:15,5:25,0:9,L:19,A:4,F. 28,E: 6 1) 31.4 years v
0:17,A:7,1:23,P: 11, E: 2, M: 24, F: 21 2) 6.3 hours
L:27,E:13,D:5,0:20,M: 10, H: 1, T: 14 3) 11.1 hours v

E: 26, M: 3,0: 18, C: 8, H: 22, L: 12, P: 16 4)2003 v/
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ol ~x-Y

210 (Xt3) =3

IN(x+3)= 3

3
e [1:)“'5
p
x:e '’ 3

X=1.481%

100 = - X-Y
10Y= - %
X -104

(e (x5 )°

e’ x+§

= x:ebv&_
% = 349,924

3x+7;: 3~4
Xt3 = -y
X=-%

ax-\ =\l
AX=1a
r=0

:E:.te l).
"10263_5(&i?qﬁ1
1025 = 40+ S

980 = 6¢

1524 Sowing Puzzie

log lb

~ Furdy BOX

197: ¢
47 = e
(n 147 = UX

Xe\n 197

—_—

m
X % 13308



Second BoX
log, *{a

log 2
2 02333 or V3

5 Xl
12 X-)
X=d

2(3*")=20
. Kt

37710
g5 = 1,10

Xt =10g3 10
: XL\D.Q.:,\Q =L

e
log?

| %2 1.0999

In 26(x-1) =0
In 26%-26 <0
(.-301 294-29

26:26%
%=1,04
2676
x-Ya

Vv
|Since 26°=5

or E.QLE =

(n(x-1) +1n5%0
n(x-1) #1n29-=0.

\226x-26

2%+

H ine
oxtl =InY
2%=4n Y4 -
Xz nY-l

R—

2

znY

A% 0493

T 3 M4lp = 4r’+ov
b=t 2+ by
0=t +br-lb
D= (X+&)(x-a)
X=3, X=-8
Chece: 10gs (3@%10) = 104 (4(2)4602)) ©)
g, (3(-8) "+ 1) = 10go 4 ()4 6(5))
= \0g, (20¢) = tog 4 (208) D



Third BoX . e e ——
O] nX-.9 M %Y . inb S
3 X+l
g4 = . XM e - )
- ;(——.Zo_eq' ik | e
- %=33.1013 x4z o(x+)
. R — . X-4: x+b
Al (xMex):a o -426xb
[ B P S ) -10: 6X —
1002 X%(6X o o ~ %% Nogowrion )
] 0= XR16X-100 (neck: \n(2-4)-In(-24) = b
0= (x-20)(x+5) ne)-wnla) sine O
%:120, x}{ﬁ R
L oneoet o)t loglao-is)za € P togyd.*" - 109,69
— 4__109&1&(}{?5:\&)11‘_@ 5K=1041 09
Xz \Eglkz‘)
|| 4x=x™3 - N 3 - o
0: X 4N +3 o x-[M¥).g
o 0=(x-3)(x-1) o o \‘091_ '
%%, K| . xa0™6l
) P | 4% 3x%-6 - _
0Y:=2X-9 S
V43X
X33 N
£ | yio- ,*1”“‘ -
Xt = -dx%-) o
Yxtl=-1l o R ———
Yx= -4 S
%= -Ya )
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Fourth Hox
oG, (-2p+6)=-1
10 (-2p19)= -\
1= -2p15
18 map

pi Tzt
-2

P 2 34380

) T XA
AX13 = 3X
3:%

“‘5(3)Hl = a0
e oy
e 2y
i) = \nY
%z\nY -}

A2 0.350)

{6, 3x < log, (5%-10)

3%= by -10
92Xz -10
=5

2inx = -l
Iy = Y2
e =X
X< 0.b065

1 =x¢2
TR )
X = -1.479

P 210
leg#‘rwgtlo
x'clogz\o

A= fogo
leg2

X2 3.5319



